(p+bar{p})/(pi" + pi)

Ratio to LHCB

o
&

©
~

0.3

0.2

0.1

0.5

7000 GeV pp Soft QCD
1 B L L IR N L N B W
i E+p)/(T+TE) Vs Iy| (p, > 1.2 GeV) j
| = LHCB ]
| --3-- Herwig 7.0.1 default a
| —— Pythia 8.186 default a

L ¢ Sherpa 1.3.0 default

— L S @ o N
| . . .......... - ]
L . ]
| . é a
B Ao e 2 ]
n | Ly L, | | | | | | | | L, | Ly | I
L e L L L
B P s L S . ]

—& Aé —
| / ————————————— E} ________________ ]
— [Qm-mmmmmmmmm e 3---- -

| R S T I N S T I N S T I N S T |

2.5 3 3.5 4 4.5

Rivet 3.1.0, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


